log (L*) IECSRGBuO standard lightnessL*

L* h=L* w nc=100,

L* |EcsraBuo=50 (Y/Yy) Y24(Y, =18, Y, /100Y<=Y,0)
L* \(3.6)=26,L* ,(18)=50,L* ,(90)=98

L*o=97,77,y=2,4, 14=1/2,4=0.41
L*1g=50,0Q §=50,0 D,=-0,00
L*3,6=25,511%,=50,00 Y= 18

log[L*/L* ,]=0, m,=0,41

IECSRGBuUO

tristimulus value difference
Yoc=L*w - nc=100,

L* 1EcsraBuo=50 (Y/Yy) 2 4(Y, =18, Y,/ 100Y<=Y,,o)

log(dY) = (1/2,4) l0g[2,4Y,,/50)] + [1-(1/2,4)] log¥!)

Iog(AY)
AY

dYo=12,27,v=
de—4 sq §,

range
\Y=18
1Y=90

Yn=3.6

log (AY/Y) IECSRGBUO
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,
L* 1EcsraBuo=50 (Y/Y,) 2 4(Y,=18, Y,/ 100Y<=Y,0)
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log{/Y,)
= (1/2,4) log[2,4Y,/50)] - (1/2,4) log¥)

Iog(leY): 0,57 m,;=-0,41> _ cepleen
* =50, dY,=4,8Q dY,/Y,=0, 2666 | N ‘ange
(dY/Y)=0,1363y=2,4, 1§=1/2, 4 0,41
(dY/Y)g=0,2666 $,~50,0Q D,=-0,00
(dY/Y},6=0,5202 Y,=18, dY=4,80

'v,=18

1 Yw=90

Yn=3.6

IECSRGBuUO

tristimulus value contrast
Yo=L*w - 6 :ne=100,

L* iEcsraBuo=50 (Y/Y,) 2 4(Y,=18, Y,/ 100Y<=Y,o)
log(Y/dY)= — log[2,4(/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y,/50)] + (1/2,4) logy{)

log (Y/AY)
C,=(Y/AY)

L* ;=50, dY,=4,80 Y,/dY,=3
log(Y/dY)=0,57 m=0,41 _ - =

1
(Y/dY)o=7,53,y=2,4, 1{=1/2,4=Q,41
(Y/dY)g=3,74 $=50,00 D,=—0,§0  application
(Y/dY}6=1,92 Y,=18, dY=4,80 1 range
1Y,=18
Yyw=90

Yn=3.6

log (L*/L* ) IECSRGBUO relative standard lightness.*/L*
LHIL* YocmL*w - nc=100,

L* 1EcsraBuo=50 (YY) Y2 4(Y,=18, Y,/ 1002Y<=Y, o)
L* \(3,6)=26,L* ,(18)=50,L* ,,(90)=98
L* c/L* 21,95 y—2 4, 14=1/2,4=0,41
,00 0,00 D= 0 {0[0]
L*SdL* =0,51,0%,=50,00 ¥;
log[L* /L* ,J=0, m,=0,41

Yn=3.6  Yyw=90

IECSRGBUO relative

tristimulus value difference
YocmL*w  nc=100,

L* 1EcsraBuo=50 (Y/Yy) Y2 4(Y,=18, Y,/ 1002Y<=Y, o)
log(dY/dY,) = [1-(1/2,4)] loglf/Y,)

log (A YIAY,)
AYIAY,

QYoo dy=2.85.y=24, 14=1/24=0.41
dY;¢dY,=1,00 $=50, )
dY; gd¥,=0,39 Y,=18, mg 24,80

*=50, dY,=4,80 dY,/Y,=0,2666 _ -~

o

application
range

1y,=18
Y=90

YN=3.6
log [(AY/Y) I (AYIY)] IECSRGBUO relative
tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

L* 1EcsraBuo=50 (Y/Yy) Y2 4(Y,=18, Y,/ 1002Y<=Y, o)
log(dYM)AYM),] = - (1/2,4) logIY,)

(dY/Ypo/(dY/Y)=0,51,y=2,4, 1}=1/2,4=0,41
(dY/Y)g/(dY/Y}=1,00 §=50,0Q D,=—0,00
d n
(@Y (VI 95 ‘iu 18 dY=4,.80,5 5= -
~ < range

Iog[(leYY(dY/Y)J] 0, m=-0,41

* =50, dY,=4,80 dY,/Y,=0,2666 |
'Yu:l8

=Clp log

N
1
1

Yn=3.6

log [(Y/AY) I (YIAY),] IECSRGBUO relative
tistimulus value contrast

CrlCru=(YIB(YIAY)y Y 21y =100,

nc~
L* 1EcsreBuo=50 (Y/Yy) Y2 4(Y,=18, Y,/ 1002Y<=Y, o)
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

(Y/dYyo/(Y/dY)=1,95,y=2,4, 1§=1/2,4=0,41
(Y/dY)}g/(Y/dY)=1,0Q S=50,09 D,;=—0,00
(Y/dY} ¢(Y/dY)=0,51 Y,=18 dY=4,80
log[(Y/dYY(Y/dY),]=0, m,=0,41 >
=5

L*,=50, dY,=4,80 Y,/dY, =3 = ~

B
application
range

v,=18

Yw=20

YN=3.6




